1)A man walking at 3 km/hr crosses a square field  diagonally in 2 minutes. The area of the field is :
a)25 ares
b)30 ares
c)50 ares(a)
d)60 ares
2)If a train runs at 40 km/hr, it reaches its destination late by 11 minutes. But, if it runs at 50 km/hr, it is late by 5 minutes only. The correct time for the train to cover its journey, is :
a)13 min
b)15min
c)19 min(a)
d)21 min
3)A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr . The average speed for the whole journey is :
a)35.55 km/hr
b)71.11 km/hr(a)
c)36 km/hr
d)72 km/hr
4)Excluding stoppages, the speed of a bus is 54 km/hr and including stoppages,
It is 45 km/hr. For how many minutes does the bus stop per hour ?
a)9 min
b)10 min(a)
c)12 min
d)20 min
5)A train covers a distance in 50 minutes , if it runs at a speed of 48 km/hr on an average. The speed at which the train must run to reduce the time of journey to 40 minutes , will be :
a)50 km/hr
b)55 km/hr
c)60 km/hr(a)
d)70 km/hr
6)A train travelled distances of 10 km, 20 km and 30 km at speeds of 50 km/hr, 60 km/hr and 90 km/hr respectively. The average speed of the train was 
a)60 km/hr
b)66.67 km/hr
c)69.23 km/hr(a)
d)60 km/hr
7)A certain distance is covered at a certain speed. If half of this distance is covered in double the time, the ratio of the two speeds is :
a)4:1(a)
b)1:4
c)2:1
d)1:2
8)Two trains approach each other at 30 km/hr and 27 km/hr from two places 342 km apart. After how many hours will they meet ?
a)5 hours
b)6 hours(a)
c)7 hours
d)12 hours
9)A train without stoppages travels at the rate of 50 km/hr and with stoppages it travels at 45 km/hr. How many minutes does the train stop on an average per hour ?
a)5 minutes
b)6 minutes(a)
c)8 minutes
d)10 minutes
10)If the speed of a railway train is increased by 5 km/hr from its normal speed, then it would have taken 2 hours less for a journey of 300 km. What is its normal speed ?
a)30 km/hr
b)25 km/hr(a)
c)20 km/hr
d)45 km/hr
11)A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot at 4 km/hr and partly on bicycle at 9 km/hr.The distance travelled on foot is :
a)14 km
b)15 km
c)16 km(a)
d)17 km
12)Sunil covers a distance by walking for 6 hours.While returning his speed decreases by 1 km/hr and he takes 9 hours to cover the same distance. What was his speed in return journey ?
a)2 km/hr(a)
b)3 km/hr
c)5 km/hr
d)Cannot be determined
e)None of these
13)The speeds of three cars are in the ratio 2:3:4. The ratio of the times taken by these cars to travel the same distance is 
a)2:3:4
b)4:3:2
c)4:3:6
d)6:4:3(a)
14)R and S start walking towards each other at 10 A.M. at speeds of 3 km/hr and 4 km/hr respectively. They were initially 17.5 km apart. At what time do they meet ?
a)11:30 A.M.
b)12:30 P.M.(a)
c)1:30 P.M.
d)2:30 P.M.
15)Sweta jogs 9 km at a speed of 6 km/hr. At what speed would would she need to travel during the next 1.5 hours to have an average speed of 9 km/hr for the entire jogging session ?
a)9 km/hr
b)10 km/hr
c)12 km/hr(a)
d)14 km/hr
16)X and Y are two stations 500 km apart. A train starts from X and moves towards Y at 20 km/hr. Another train starts from Y at the same time and moves towards X at 30 km/hr. How far from X will they cross each other ?
a)300 km
b)200 km(a)
c)120 km
d)40 km
17)A man riding his bicycle covers 150 metres in 25 seconds. What is his speed in km per hour ?
a)20 km/hr
b)21.6 km/hr(a)
c)23 km/hr
d)25 km/hr
18)An athlete runs 200 metres race in 24 seconds. His speed is :
a)20 km/hr
b)24 km/hr
c)28.5 km/hr
d)30 km/hr(a)
19)A train travels at 82.6 km/hr. How many metres will it travel in 15 minutes ?
a)20.65 m
b)206.5 m
c)2065 m
d)20650 m(a)
20)A train is moving with a speed of 180 km/hr. Its speed is :
a)5 m/sec
b)30 m/sec
c)40 m/sec
d)50 m/sec(a)
 


